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QUESTION 1

A customer is running multiple Oracle DBs over NFS. The volumes are replicated using SnapMirror to a secondary site,
which also hosts the development and test systems. They want to streamline the creation of test environments on the
secondary site so that they will not have to manually use FlexClone to clone multiple volumes for each request. In this
scenario, which tool satisfies these requirements? 

A. Snap Creator Framework 

B. OnCommand Unified Manager 

C. NetApp Service Level Manager 

D. OnCommand Workflow Automation 

Correct Answer: A 

Reference: https://library.netapp.com/ecm/ecm_download_file/ECMP1650312 

 

QUESTION 2

You have two ONTAP clusters, cluster1 and cluster2. Cluster1 has an SVM serving SMB3 data and you want to protect
it by replicating it to cluster2 using SVM DR. The source and destination subnets are identical. You want to retain the
CIFS server security of the SVM at the destination site. In this scenario, which three steps would you take to configure
the SVM DR relationship? (Choose three.) 

A. Configure the network for data access on the destination SVM. 

B. Create the SnapMirror relationship with the id-preserve option set to true. 

C. Create the destination SVM with the dp-destination subtype. 

D. Create a CIFS server on the destination SVM. 

E. Initialize the SnapMirror relationship. 

Correct Answer: ABD 

Reference: https://library.netapp.com/ecm/ecm_download_file/ECMLP2494081 

 

QUESTION 3

A customer has application data corruption on a LUN that is in a volume with six other data LUNs. The customer needs
to restore the corrupted LUN from a Snapshot copy without affecting the other six LUNs. Which process would
accomplish this task? 

A. Use volume SnapRestore. 

B. Use LUN mapping. 

C. Use the volume Snapshot partial-restore file. 
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D. Use a single-file restore. 

Correct Answer: A 

Reference: https://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.dot-cm-sanag%2FGUID-
AC8EEDBE-5565-49A3-9E80-584A9F8AED1B.html 

 

QUESTION 4

A volume on a FabricPool-enabled aggregate is consuming 10 TB of the performance tier and 90 TB of the cloud tier. A
SnapMirror copy needs to be created on a FabricPool-enabled peer cluster at a disaster recovery location. In this
scenario, how much data is transferred when the SnapMirror relationship is initialized? 

A. 100 TB 

B. 200 TB 

C. 10 TB 

D. 90 TB 

Correct Answer: A 

 

QUESTION 5

You have set up a SnapMirror relationship between two SVMs for data protection. The data in the source volume is
unavailable due to an event related to a virus infection leading to data corruption. In this scenario, which three actions
are required to activate the SnapMirror destination volume and provide data access to the users? (Choose three.) 

A. Perform a SnapMirror quiesce operation. 

B. Disable the source volume by taking it offline. 

C. Configure the destination volume for data access. 

D. Verify the status of the source and destination volumes. 

E. Perform a SnapMirror break operation. 

Correct Answer: CDE 

Reference: https://library.netapp.com/ecmdocs/ECMP1196991/html/GUID-264EA25B-C4CA-4441-AFCD-
FBF39D6C40A0.html 
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